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Geudluliwev/ CHEMISTRY

(80D wHmib yhidle el / Tamil & English Versions)

Gpmd : 3 wenf | [ Qurgs wHiQueanser : 150
Time. Allowed : 3 Hours ] S [Maximum Marks : 150

Sleyenr: 1) ooass Aarssepd sfurs uderd o dergT erarugeamar
' slluriggs Qsrarareyd. SiFsliufeled  @opul@muder
SiopsaansrafliurariiLb o L anqurss Qzfel&sa .
2) Bob Sdog sGUY @wulamer L HCw Gr@gﬂeug,m@m
<l 5CaMg HougH@ED LRSS Geuamm@Lb. LILBIGET auamreusnE
Quendléd LweTL(HSSeLD. -
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately. ,
(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

GO : Caaeuwinar @Lgdled LILLD eumThH) FOSTLTHEEET CT(LHSIS.

Note : Draw diagrams and write equations wherever necessary.

UGS -1 /PART »1

@OLL : ()  Semenssl @S]emrrasa;@a;@m aﬁ]ml_uaﬂasaseqm 30x1=30
) sAwrer elenLenwid Gg;rr@@g@g@ T(PEIS.
Note : (i) Answer all the questions.

(i) Choose and write the correct answer.

1.  wonl Quprs Qe Hlee eufles :
(1) 3d euflens (<=4 4d cuflens (@) 6d auflens (/) 5d euflens

The incomplete transition series is :

(@) 3d series (b) 4d series (c) 6d series (d) 5d series
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&ev-pt (NH,),Cl, <& LweTUBE DS
(1) sar 2 Gars BEhas@ LLMHD

(=) Qewpens Ceminy ,

(@) Csameuudoer @nsL 141&EHsE diombs
(FF) wedplié Smyemt

Cis-pt (NHj;),Cl, is used as :

(a) Antidote for heavy metal poisoning

(b) Synthetic detergent

(c) Anti tumour drug
(d) Masking agent

grudGanre - &g Brmd LESEGDLOLITE e LiLee eTaveal ?

(=) &&Grmen, o.l1r&GLrren, ersl GLmev

() BEBp&EGaen, o lF&GLT6, SresGLimen

(@) <LpaGLme, arsl GLrey, sroé&GLmea

(rF)  wreGrmev, @résl CLmen, &&Grmev

What are the products obtained during hydrolysis of Raffinose ?
(@) Sucrose, Fructose, Lactose

(b) Glucose, Fructose, Galactose
"(¢) Fructose, Lactose, Galactose

(d) Maltose, Lactose, Sucrose

orgl rrflepemnu oySer ?

(=) sieflade (<) oo 9enared et

(@) rllenemmu 9wy eoed ofer () epeflanamru Dupl oL oy86
Which of the following is a secondary amine ?

(@) Aniline (b) Diphenylamine

(c) Secondary butyl amine (d) Tertiary butyl amine

@ Siamieiled o erer erasLlyrafer <Hned E, =

' 4m?me? ‘ 22 me? 2m2me? .. Z&me
_ =T Ine - ST e _ &m me gy - 220
(=1) 2h2 (=) 2R (&) 2h2 (/) 2h2
The energy of electron in an atom is given by E, =
4m?me? 212 me? - 2m?me? _ 2wme
(@ -~ 252 (b)y - 252 (c) w2n? (d) n7h2
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XeOF, ppaéandled o 6Tem @améseLi] :

(=1) sp® (<) sp°d? (&) spd () sp’d®
The hybridisation in XeOF, molecule is :

(@) sp? (b) sp°d® (©) sp’d (d) sp°d®
MBS &T(HSET | i 19N560sHEsILR S TmeT.

(=1) Grene (<) Corarengi

(@) wraearenL L (/F) smedilLenyi

Lanthanides are extracted from :

(a) Limonite (b) Monazite

() Magnetite (d) Cassiterite

‘&@é;a;rreﬁrruemmmgérr ergl Bipwop Geiwbd ?

(<1) Na,CuCl, (<,) Na,Cdl,
(8) Ky[Fe(CN)y] - (F) K;[Fe(CN)4]
Which of the following compound is not coloured ?

(@) Na,CuCl, (b) Na,CdI,

() Ky [Fe(CN)] - (d) K;[Fe(CN)g]

efananGaus wrpBluldermed gm elamanuien Gousd FasfiiLmg Geameumd 6THs
sryenll sflwirs smndmng ? '

(1) agabag CoipAs®ssd () ssaflan e peuara)
(8) sigeor dpopd fsfissed () Herieypp pHPD GOPHD

Which one is the correct factor that explains the increase of rate of reaction by a
catalyst ?

(@) Shape selectivity (b) Particle size
(c) Increase of free energy (d) Lowering of activation energy

&P WHHESIHET Wisa|b LweTalsEs STTem :

(1) el grliewTeaaal

(=) eupenp erefifler suirfasemd

(@) CrryarLréEh Smblamer eallfléd saimseD
() erafidled 2 U seurliur () urdy seurlu®Eps
Colloidal medicines are more effective because :

(@) They are clean

(b) They are easy to prepare

(c) They attract germs more easily
(d) They are easily assimilated and adsorbed

[ liys / Turn over
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11.

12.

13.

14.

4

Ysuoapsaia urgeurer wyselnGanp Haa :

(1) +1 (=) +2 ' (&) +6
The most common oxidation state of Actinides is :

(@ +1 (b) +2 () +6

aniader sifle, sy Qararasudariy, FHisedT :

(=) pOPows samoumLLs (<) Afos sarmbLmiLg)
() mRlwdys serenwuemLwig)

(@) smrd FeravpW|EL WIS
According to Lewis concept of acids and bases ethers are :
(@) Neutral ‘ (b) Acidic

(c) Basic (d) Amphoteric

(rF) +4

(d)

&&Crmréla @@é&(ﬁa;rrﬁb, SLIEGLTELD enemréasiu g (HriLg) :

(@) C;-C () C -G, (&) ¢-C,
Sucrose contains glucose and fructose linked by :
(@ C-C b C-C, (e C-C,4

P((g:}‘r’ = P((;s' * ((:gl)z eremmy gwblena ellenaudle

L‘ﬂ@iﬂ@@ﬂrrés@ eNenendi@ FTFSHONG ABLOGUS) :
(1) PCL-é Qerdlanau <fafliug)
(<) Cly-eir Qedlaney siHaMiiug

(@) ClL-ér Qalaled wIHDOD®E

15.

(7) Cly-éir Glaleneu @GenmLiLg.

C15 =S PC13 + Clz

(8 ® @

the factor that favours the reverse reaction is :
(@) Increase in concentration of PCl;

(b) Increase in concentration of cl,

() No change in concentration of Cl,

(d) Decrease in concentration of C12'

For the Equilibrium P

Sermed HeulnQer pH eredaned :

(1) 6.8 -84 (<) 44 -62 (@) 31-44
pH range of phenol red is : '
(a) 68-84 (b) 44-62 () 31-44

() Cl—é6 |

(d)

CY

+4

Cl_CG

| (rr) 8.3 - 10

83-10
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17.

18.

19.
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org oL wCar < &aa ellanerule FHLILTE ?

(1) m - QLrgyuilie (<) ojafleder
(@) p - =8Cermienmed () Quenengersiben
Which of the following will not undergo diazotisation ?
(@ m- toluidiene (b) aniline
" (¢) p - amino phenol (d) benzyl amine

Alicy s g@T pHnedld gHUBD DD :

(1) AG=AH+TAS (<) AG=AH-TAS

(@) AG=AHXxTAS (/) Gupadu ergieyLsidane
Change in Gibb's free energy is given by :

@) AG=AH%*TAS (b) AG=AH-TAS

() AG=AHXTAS (d) None of the above

abs efealQUIBERSEE oL aild rai soruuramsy Lweau@GSng ?
(1) arsmev edlenariGLImmeT (=) Quetmer efenaiQuimmeT

(@) Lreemay eflenarliGuimmeT () Afsenri(h eNevariGlLImmeT
Diethyl ether is used as a solvent for :

(@) Lucas reagent (b) Fenton's reagent
() Tollen’s reagent (d) Grignard reagent

s TeiFgHESTET SITETLD :

(1) Hleravss eTa&LITmem <SienLoLiL

(=) Plenads o L &m

(8) Heoeliys seaewwupn o L&

(FF) @maﬁuq({s SEELOWIDD TS FT6T SAGMLOLIL
Radioactivity is due to :

(a) Stable electronic configuration

(b) Stable nucleus

(c) Unstable nucleus

(d) Unstable electronic configuration

[ liys / Turn over
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20. a?@ésa;rr@%rummrj)gm Cemgwid enami rréamenig SDOTWITEH| 6T ?

(=1) CH3NO, (<) CH3—-(I2H—N02-
CHj
CH, ;
(@) CH; ~C~NO, () CH,~—CH,~CH,-NO,
CH;,3 _
Which of the following will not dissolve in NaOH ?
(a) CH3NO, (b)  CH;-CH-NO,
!
CH,
G
(©) CH3-CII—N02 (d) CH;—CH,-CH,-NO,
CHj
21. S Crafladmibs swGemranant Mer 2 (HAUMTGED TENE THSHGSTL ([ ?
(1) ersigren seur Carsams (=) smseur Gersans
(8) smaseui LHSH (FF) ereslpmer seuir LI6SH
The formation of cyanohydrin from a ketone is an example of :
(a) . Electrophilic addition (b) Nucleophilic addition
(c)  Nucleophilic substitution (d)  Electrophilic substitution

22. SEIGNET TS FTes Bt L 1b :
(31) 2-(heu SemeyL_a Cpiredldlgs Qsriryemwg)
() 2o jere e erhiieldss Cg T jenLwig)
(8) emeu @eraeuls QUINIFSE i
(FF) Qeummled ergiafleraney
The electron affinity of an atom is :
(a) directly proportional to its size
(b) inversely proportional to its size
(c) is independent of its size
(d) none of these

28. ergglallen Sanensarallal(mps QL MNaSer o ar_Tés 2 H66ug)

(=) @131198 sfleid (<) smedls Sflad

(@) QLAgrels oiflaib. (FF) < damels =alb
Ethylene glycol forms terylene with :

(a) Adipic acid (b) Phthalic anhydride
(c) Terephthalic acid (d) Oxalic acid




- 24,

25,

26.

27.

28.
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e Geuti Hlevaudled Birowrs o drer 2 Garsid :

(<=1) Qgrrefwb (<) @ atiriquild
(@) sredwid () smadwibd
The metal which exists as a liquid at room temperature is :
(a) Germanium (b) Indium -

() Gallium (d) Thallium

Geuglégflancudlen gemenio

(=) Quiigé swhlee (<) Bevawireng
(@) papBaome (%) @ranGi>
State of chemical equilibrium is :

(@) Dynamic : (b) Stationary
() None (d) Both

Apbs Gleulins wHmid e SLSFISSHmen QSTeiTL. Lilg HHISET :

(=) Swall Ly shisaT (<) epO&EFM LIl SBIGET
(@) 2Cars LigsHSET () ssQemeRT Il LG SRISET
The crystals which are good conductors of heat and electricity are :

(a) Ionic crystals (b) Molecular crystals

(€) Metallic crystals (d) Covalent crystals

gafomseflear o (heurgeler £ sliger ynoader wHlLser :

(=) @faw | (<) G@Doy

(@) yaHun (w) Hss Goopa
Standard free energies of formation of elements are taken as :
(a) High ' (b) Low

() Zero (d). Verylow

aA — bB, eratp elenemuiléd, A-udlem Gadley @HLOLBISTEGD C_Surrgj, aSlenemudl e
Ceusid prem@ wLmISTEDG. @eualamarufen Gousd :

(1) KA (<) KAV (®) KAl () k[A]

For a reaction : aA — bB when the concentration of A is doubled. The rate of reaction
is increased by four times. The rate of the reaction is :

(@) KA (b) K[AJ2 (©  KAPA (@ KAl

[ HmLys / Turn over
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29. Qe smbuir wemudd SO, & meur@n efeeamnude D_GUTL_M(GLD @mn_pﬂmew '

Gafroih :

(=1) NO (<) NO, (@) 80, () O,

The intermediate compound produced in the formation of SO; by lead chamber process -
is:

(@ NO () - NO, (© SO, @ o,

30. Spsa@Toupmiat euallentn 10685 bl :

(<1) CICH,COOH (<4,) C1,CCOOH
(®) CH,COOH (/) CL,CHCOOH
Among the following the strongest acid is :

(@) CICH,COOH ‘ (b) CI,CCOOH
(¢ CH,;COOH (d) Cl,CHCOOH

Lu@d) - I/ PART - 11

GouY: () eCsaub uHemeig eflanTéa@héE efanLwiefssa,Lb. 15x3=45
i) @aiearm alamelnEn pen <ihag Brew® @Jrrasaﬂmrmassrﬂeu B
e wef&sa]ib. ‘
Note : () Answer any fifteen questions.

(ii) Each answer should be in one or two sentences.

31. ere&Lgmen gypmedlern erdlis@dulden afusgieud wrg ?
What is the significance of negative electronic energy ?

32. GumiLrélwd uweiufer (K*) wapssd wrhlad 11.25, 2iger HlsT iamisam
Bletr Fenoamws santadl().

Screening constant of potassium ion (K *) is 11.25. Calculate its effective nuclear charge.

33. Qumrlimey LIGSTTD ereuaimm QupLiuBépg ?

H_ow burnt alum is obtained ?

34. Gloligen ppETM LILGTEEET 6T(LHSIS.
Write any three uses of lead.




35.

36.

37.

38.

39.

40.

(2)

9 ‘ 6033

Gerreui 2.6 (sibuafl) erenmmed eresar ?

What is philosopher’s wool ?

CURTGLTS S GTETLIS| GTCIET ? DASET Liwlem Wrgl ?
What is called Bordeaux Mixture ? Mention its use.

Giuaild Baud o Lswm elmearamu cNler&®.
Write the nuclear reactions taking place in the sun.

el Awie Hlepeento eTammTEd 6Temmen?

What is a vitreous state ?

QautiL Quisselwd Gream md ailSudler Qadeden - QeTmiis SapEODS g,@as.

Give Kelvin-Plank statement of second law of thermodynamics.

Qemeupd swhame ceasEhsd gl wresEnésrar soLIT(HSMET
TG
H,0, = H0 + 140,

(® ®) (©)

CO + Hzo == C02 + H2
® ® @ ® (g

N,Oy & 2NOy
(c) © @®
Write the equilibrium constant for the following :

@ H,0, = H,0 + 140,

® (8 )
CO + Hzo = C02 + H2
k) @® (@ ® (9
N,O; = 2NO,
(c) ® (&

[ Hpiys / Turn over
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41.

42,

43.

44.

45.

46.

47.

48.

49.

10

2ABS50 &8 Hlaspd Seven CTEMDTE) GTanar ? rOSHEETL( (s

What is consecutive reactions ? Give example.

s auans aflevanden efenanGeus wmdeluden A1 1.54X 1073 sec~1 erafiep,
ADTOUTPE| ETVSMSE sasdl ().

The rate constant for a first order reaction is 1.54 x10~3 sec=1. Calculate its half-life
period. ‘ :

SOTUILITGHT TIT g lPLORISHT eTeTLMme Ty ? ThESIESTL (D F([Hs.

What are lyophobic colloids ? Give an exathple.

auaruy - Gorert sLsg Hpet, g sioams CUNTGY:S

Define molar conductance. Mention its unit.

d, I womid BCesr Lrimfé SiflogHer aumiir® (ypQeuaf SILOLILY) &(H.
Write the formula (configuration) fot d, 1 and meso tartaric acid.

533 K Qeuliuflenauded faflsyreler Bgi <oyssmadls Siflagdlen efenar wirg ?
What is the action of oxalic acid on glycerol at 533 K ?

crsdlelern SlaperdsTanay it urrduurrrﬂé;_a@@;},gjl_ﬁh QeuiuiLRSgbGUTE
e elaneaneows er(pg. \

Write the equation for action of heat on ethylene glycol with conc. phosphoric acid.

GurCuim’ afflew erpgls.
State Popott’s rule.

sTLTAels odahisemard saLHleughsrer @\m DU SEETE F(TH.

Give two tests for carboxylic acids.



50.

51.

11 6033

C,H,N —HAl g HNO, , ¢
FFg;lT
A

A, B, opmitd ‘C’ epws sl

LiAlH,
Ether

HNO,

> B > C

C,H3N
A

Identify A, B and C.

Hipld o wirsHser erenLianay Wiranas ? a@égjé;a;nﬁ@ (5.

What are auxochromes ? Give an example.

LES - I / PART - III |

@O @eiCeunm WflelelmbgIbd GoDHSULFD @@ eQerésamern C@grr;_r;@g@ggj

Note :

52.

53.

54.

55.

GseIDd 7(1p aﬁ]mrra;&@&.@ denL_wefl&seyLb. - 7x5=35

Answer any seven questmns choosmg atleast two quest1ons from each
section.

9fley - oy /SECTION - A

d’ <ML Lrellan GulqaUBISEET 6NleTéES.
Discuss the shape of ‘d’ orbitals. '

gLl Georr QautiLs 20&s papew eﬂmlﬂ.‘

Briefly explain aluminothermic process.

Gurarengl_ eawTeledl(Hbgl @H(Ii‘)ﬁ;@)@f@&ﬁﬁ)@ﬂ eréueungy 19NSQSELILTL ?

Describe the extraction of lanthanides from monozite sand.

Qevandper QemaiLs Qararasuie sHIICHTETSEMET 6THEIS.
Write the postulates of Valence Bond theory (VB).

[ Hpliys / Tumn over
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56.

57.

' N204 = 2NO, AH +59 k]/mole

58.

59.

S12
9y - iy / SECTION - B

erer_Grm9u e élmuélu.la)qa;m wrevey 72

What are the characteristics of enfropy ?
) &rrl’_aﬂu__lr'r Glasrreirma;amlé; i

® @ . B i
eTatim eflenemudléd @;@ggm mp‘ggﬁ@@ﬂuﬁmmuﬁleﬁ eSevareysaner efleu.

State Le—Chateher s Pnnc1ple D_i_scniss the _effect of pfessure and temperature on the.. i
following reaction. ' SR ‘ : '

N2O4 = 2NO, AH= +59 kJ/mole . O ‘
® @) : o

araflu eflanans(eméELb, eﬂa;a;currafr aﬁlmma;@es@m 2 et GeumiLim(Haser wmenau?

leferenhate simple and complex reachons

&Epa;esrr@um Lﬁlma;eug,ﬁem S &@g,g,gmg, 298 K- a;masa‘,l@a;
Zn/Zn2+(a Ol)//Cu2+ (a 001)/Cu .

EZn“ /Zn =~ 0.762V

ECu2+ /Cu = +0.337V

Calculate the potential of the followmg cell at 298 K » .
Zn/Zn2* (a=0. 1)//Cu* (a=0. 01)/Cu DU |

EZ:u2+ Jou =1 0.337V
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u_‘ﬂ.uﬂm” - & / SECTION - C

60. Epsmem sranfigEnLen el erdled ST ereeumy) eﬁmmqrﬂaﬁ]mg} ?

(@) H*/H0 (b) PCly
How does diethyl ether react with the following reagents ?

(@ H*/H0 RS

61. g{ﬁu_rra)lq,m@_:r)lq.eo mengjm Gmﬂu.s ¢gi,ml_rrc;o @gua;a; aﬂmaﬁuﬁlm afﬂemm ,- |
auflpanpenit efleu. ' |

Explain the reaction mechanism of acetaldehyde mvolved 51mp1e aldol condensatlon

62. @réys Sflwsms Qprélssd (ymng)uﬁleu GrelaU ) §UJTI‘Iﬂ8585Q)ITLD ?
How is lactic acid manufactured by fermentation method ? = o

63. Spssam_aupon elarEGs. "

(a) AT ff;a;éﬂa;m : (b) ; @JG\S] (@QJWU'@UHEG.I'I'
Write short notes on : ‘ C oo : :

(@) Antacids - ) Analgesics
| ug,é.] - IV/ PART -V
SOl : (i) Qrgsh mIeE, aﬂmrra;a;@a;@ aﬂmguaﬂa;a;mm ) » 4x10 40

@) efem erer 70-&@ - SL_LMWULONS aﬁlmx_maﬂa;a;uuLm Gmem@m
Lﬁg,(y)merr aNarrssefier acggm gg)mgj afﬂmrrasa@a;@

v wefésa]id.
Note : (i)  Answer four questions in all.
(i) Questionnumber 70is compulsory and answer any three from the remammg
questions.

64. (1) er@&Lymen a;mrrﬁg)@a;a;rrm (50613]&58566[ &GITG}SI_GO'N_ afﬂmlﬂ cﬂqg,m eﬂmuq
HMID Gpeaws GHUDHS. A B :
(<) samammgen 2iflse - @;ﬂuq Guamyas

(a) Explain Mulliken’s scale of electronegat1v1ty Mentlon its advantage and
. disadvantage.

(b) Write a short note on Etching on glass.

| | Q@L'an; / Turn ovéa
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65.

66.

67.

68.

14

(1) [Co(NH,)sCl2t eramm Siamema|5CarwgdneE Gemeumeiaeupamns
GG :
(i) IUPAC Quuwrir
() enww o Cars owef
(ii) rreflaeT
(iv) <enemTE| GTEHT
(v) eugeuid
<) sdlflgs g@&rr@l_rruqa;@ﬂm DHSSI6U LILIGTEHE T @T@g,]a;
(a) For the complex [Co(NH,)<Cl]?>* mention :

(i) IUPAC name
(i) Central metal ion

(i) Ligands
(iv) Co-ordination number
(v) Shape

(b)  Mention the medicinal uses of radioactive isotopes.

(=) Qgrs Fwerun() erempred erenem ? igen (paflusgieisams elasEEs.

(
(=) MevarCGeus wrpdufes Qurgeurar Hplilwdser wremey ?
(a). What is Bragg’s equation ? Give its significance.
(b) What are the general characteristics of catalyst ?

(a{) Q@mn_rrgm FLOEGTUITL DL Gu(Heq.
(<=4) EMF-&@Lb, &L 1q0T 3HDaNSELD 2-6TeT Qg m_frepu @J@@ﬁl

(a) Derive Henderson equation.
(b) Derive the relationship between EMF and free energy.

(=1) e @CGermCGym Quendafiey grapTliLBLD Lorrmgﬁ]u_urmasm LOHMILD Sfeubblen
- Qopea Anuusdpar aflesou owpsls.
(<) Qemeu(Hid Aamanaenerts L Ay @pSluu DTS,
@) Garéder Werermhu@GLL] eQénan
(i) HVZ - eflanan

(iii) o6 Eymilev @uﬂl_em_@a);og)m
(a) Write the possible isomers of dichlorobenzene and their dlpole moment. order

(b) Give a brief account of the following :

(i) Kalbe’s electrolytic reaction
() HVZ reaction
(i) Friedel Crafts Acetylation
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69. (=) Epéarand wrHYRISHT ereueurm HlaspssiiLddemer ?
@) GGGy Quender — iafedar

(]1 é{@iﬂ@ﬂﬁiﬂ' - QQ(:OILI 55"'U'Lb

(i) Cuenfer evwiBsreNibd G&Carmeng(® — eoLAenened
(=) QUi DeveawriiLy erenmmed erairem ? TRSHSETO L6 eflers@s.
(a) How can the following conversions be effected ?

(i)  Chlorobenzene —» Aniline

() Aniline —s Schiff’s base

(i) Benzene diazonium chloride —s Biphenyl
(b) What is called peptide linkage ? Explain with example.

70. (1) &flw Gaiobd ‘A’ eremug C/H;03Na eretmn epedisng cumiLim® Qsmeir
Serraflé oiflagder Camgqw o 111y, Gaiowb ‘A'- e Camr SERTGTITLDL|L_60T
QaiLu@ESsLILELCUTE CeHeO eremp epadaam eumiiirBeow ‘B’
e Mairdlpgl. Da pHHow Quifs GCamerHLar sargr Apsamss
&g Geion B Camguib @anL rréms® wperafaauddn C4H-COCl1
L& eflearfipgl ‘C’ erayid erevLanys SmAMEI. A, B, opmid ‘C-eowé
s bg eleansemer efersas.

() A" eTaid wEpser Hp 2 Carsid Qrrodrraussded samrus Fnlq WG,
QeueGarssden eumssriur L &gl Birss KCN o e efever LA Bg!
B ar@id sevrwsomigw jamameys Cerogans smAng. Q&Caiwid
B edliis gnemLen cflenarifibg wHODIM® sanenralé Carion C EMWIUYLD,
o L& 2.Garsh A - ewwb sHAng. A, B, HoId C-erws SarLHhg)
allenarseean eflerdss.

. 9{60603;)

(&) C3HeO erémy epevdsnmy euriiun() e i sflns Carob A SIGuirLLimid
eflaansg o L Lu@ADg. C,HO erar psammn aimiur@erw Gaioib
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An organic compound ‘A’ is a sodium salt of phenolic acid with molecular formula
C,H-O,Na. ‘A’ on heating with soda lime gives compound ‘B’ of molecular formula
CH(O. ‘B’ gives violet colour with neutral ferric chloride. ‘B’ on treatment with
C4HsCOCl in the presence of NaOH gives an ester ‘C’. Identify ‘AP and ‘C’.
Explain the reactions. ‘

‘A’ is a yellow coloured metal soluble in aqua regia. The roasted ore of this metal
reacts with dil. KCN to form a soluble complex ‘B’. This complex ‘B’ reacts with
Zinc dust to form another complex ‘C’ along with the metal ‘A", Identify ‘A’, ‘B’
and ‘C’. Explain the reactions. ‘

OR

An organic compound A of molecular formula C;H,O answers jodoform test.

* Another organic compound B of molecular formula C;HO is known as oil of

bitter almonds. A reacts with B to form an unsaturated compound C of molecular
formula CgH;,O. Compound B reacts with malonic acid in the presence of
pyridine to form an unsaturated acid D of molecular formula CoHgO,. Identify.
A, B, C and D. Explain the reactions.

If 50 milliampere of current is passed through copper coulometer for 60 minutes
calculate the amount of copper deposited.
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